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International Economics

(varjkZ"Vªh; vFkZ'kkL=k)
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k rFkk
x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa ds
vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners are
required to answer any two (02) questions only.

(2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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1. Explain the importance of International Trade in an economy.

fdlh vFkZO;oLFkk esa varjkZ"Vªh; O;kikj dh egRrk dk o.kZu dhft,A

2. What is Tariff ? Explain four types of non-tariff barriers.

iz'kqYd D;k gS\ fdUgha pkj izdkj dh xSj iz'kqYd ck/kvksa dk o.kZu

dhft,A

3. What is balance of Payments ? Elaborate.

Hkqxrku larqyu D;k gS\ O;k[;k dhft,A

4. Explain the Foreign Trade policy of India.

Hkkjr dh fons'kh O;kikj uhfr dk o.kZu dhft,A

Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd

iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa

ls dsoy pkj  iz'uksa ds mÙkj nsus gSa A

Briefly discuss any four (04) of the following :

fuEufyf[kr esa ls fdUgha pkj (04) ij la{ksi esa ppkZ dhft,%

1. Free trade

eqDr O;kikj

2. Custom Union

lhek la?k
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3. Foreign Exchange

fons'kh fofue;

4. Exchange Control

fofue; fu;a=k.k

5. Foreign trade multiplier

fons'kh O;kikj xq.kkad

6. Dumping

jkf'kikru

7. Globalization

oS'ohdj.k

8. International Trade

varjkZ"Vªh; O;kikj

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)

uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u

ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u

vfuok;Z gSa A
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1. According to Ricardo which one is the reason for comparative
cost ?

(a) Difference in Profit

(b) Technological advancement

(c) Difference in Labour cost of Production

(d) Difference in other costs of production

fjdkMksZ ds vuqlkj dkSu lk rqyukRed ykxr esa varj dk dkj.k

gS\

(v) ykHk esa varj

(c) rdfudh izxfr

(l) mRiknu dh Je ykxr esa varj

(n) mRiknu dh vU; ykxrksa esa varj

2. The meaning of the profit due to trade is :

(a) Increase in economic Welfare

(b) Increase in the satisfaction of consumption

(c) Increase in the welfare of consumer

(d) Above all

O;kikj ls gksus okys ykHk dk vFkZ gS &

(v) vkfFkZd dY;k.k esa o`f¼

(c) miHkksx dh larqf"V esa o`f¼

(l) miHkksDrk ds dY;k.k esa o`f¼

(n) mijksDr lHkh
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3. Official Settlement Account is :

(a) Commodity Account

(b) International Liquidity Account

(c) Service Account

(d) Short term capital account

vkf/dkfjd O;oLFkkiu [kkrk gS&

(v) oLrq [kkrk

(c) varjkZ"Vªh; rjyrk [kkrk

(l) lsok [kkrk

(n) vYidkfyd iw¡th [kkrk

4. Box diagram is first used by the economist :

(a) Edgeworth

(b) Marshal

(c) Bohlin

(d) Adam Smith

ckWDl fp=k dk iz;ksx loZizFke fdl vFkZ'kkL=kh us fd;k &

(v) ,toFkZ

(c) ek'kZy

(l) cksfgyu

(n) ,Me fLeFk
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5. The technique of offer curve is developed by :

(a) Alfred marshal and Edgeworth

(b) J. S. Mill and Edgeworth

(c) Ricardo and Alfred Marshal

(d) None of the above

izLrko pozQ dh rduhd dks fodflr fd;k &

(v) vYizsQM ek'kZy ,oa ,toFkZ us

(c) ts- ,l- fey ,oa ,toFkZ us

(c) fjdkMksZ ,oa vYizsQM ek'kZy us

(l) buesa ls dksbZ ugha

6. The profit from trade is :

(a) Profit from Exchange

(b) Profit from Specialisation

(c) Both of these

(d) None of these

O;kikj ls ykHk gS &

(v) fofue; ls ykHk

(c) fof'k"Vhdj.k ls ykHk

(l) ;s nksuksa nksuksa

(n) buesa ls dksbZ ugha
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7. Which one is non tariff barrier :

(a) Import Quota

(b) Export subsidy

(c) State Trade

(d) All these

buesa ls dkSu lh xSj iz'kqYd ck/k gS&

(v) vk;r vH;a'k

(c) fu;kZr lfClMh

(l) jkT; O;kikj

(n) lHkh

8. Effect of import Quota on import quantity is :

(a) Direct

(b) Indirect

(c) Direct and Indirect Both

(d) None of these

vk;r dksVk dk vk;r ek=k ij izHkko gksrk gS &

(v) izR;{k

(c) vizR;{k

(l) izR;{k&vizR;{k nksuksa

(n) dksbZ ugha
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9. The solution of dumping control is :

(a) Import Tax

(b) Quota

(c) Both of these

(d) None of these

jkf'kikru fu;a=k.k dk mik; gS&

(v) vk;kr dj

(c) dksVk

(l) nksuksa

(n) buesa ls dksbZ ugha

10. State trade is common in :

(a) Capitalist countries

(b) Socialist Countries

(c) Both of these

(d) None of these

jkT; O;kikj fdu ns'kksa esa izpfyr gS \

(v) iwathoknh ns'kksa esa

(c) lektoknh ns'kksa esa

(l) nksuksa esa

(n) buesa ls fdlh esa ugha


